November 17, 2011 Invoice 392863

Page 13

Client # 734996 Matter # 170666

For services through October 31, 2011 relating to Use, Sale of Assets

10/03/11 Associate	Email (x3) to S. Feldman re: docum L. Katherine Good	nent destruction 0.20 hrs.	340.00	\$68.00
10/06/11	Conference with K. Good re: motio (.1); Draft motion to destroy docum	•	destroy documents	
Associate	Amanda R. Steele	2.90 hrs.	245.00	\$710.50
10/06/11	Conference with A. Steele re: document	ment destruction	motion	
Associate	L. Katherine Good	0.20 hrs.	340.00	\$68.00
10/09/11	Review and edit motion to destroy	documents		
Associate	Amanda R. Steele	0.50 hrs.	245.00	\$122.50
10/10/11	Review and review motion to destre	oy documents		
Associate	Amanda R. Steele	0.80 hrs.	245.00	\$196.00
10/28/11	Email to K. Good re: motion for de motion (.2); Conference with P. He		` ' '	
Associate	Amanda R. Steele	0.40 hrs.	245.00	\$98.00
10/28/11	Review and revise document destrusame (.1); Email to P. Heath re: san		); Email to A. Steele re:	
Associate	L. Katherine Good	0.50 hrs.	340.00	\$170.00
10/28/11	Email with K. Good and S. Feldma	n re: records des	truction	
Director	Paul N. Heath	0.20 hrs.	550.00	\$110.00
10/31/11	Conference with P. Heath re: destrumotion (.3)	iction of docume	ents motion (.1); Revise	
Associate	Amanda R. Steele	0.40 hrs.	245.00	\$98.00
10/31/11	Email (x2) to A. Steele re: document	nt destruction mo	otion	
Associate	L. Katherine Good	0.10 hrs.	340.00	\$34.00

November 17, 2011 Invoice 392863

Page 14

Client # 734996

10/31/11	Review and revise records	s motion		
Director	Paul N. Heath	0.70 hrs.	550.00	\$385.00
		Total Fees for Profess	sional Services	\$2,060.00
TO	OTAL DUE FOR THIS INVO	DICE		\$2,060.00
Tr.	OTAL DUE FOR THIS MA	TTED		\$69.00 <b>\$2,129.00</b>

November 17, 2011 Invoice 392863

Page 15

Client # 734996

Matter # 170666

## For services through October 31, 2011 relating to Claims Administration

10/03/11	Email from J. Finocchiaro re: exten omnibus claims objection for Ultim	•	deadline of 4th	
Paralegal	Jamie E. Schairer	0.10 hrs.	200.00	\$20.00
10/03/11	Review message re: G. Lazurus regomnibus objection (.1); Call with K Lazurus's assistant re: extending deadline to J. Schairer (.1); Email w confirmation (.1)	. Good re: same adline to 10/12 (.	(.1); Call with G. 1); Email extension	
Associate	Julie A. Finocchiaro	0.50 hrs.	255.00	\$127.50
10/03/11	Call with M. Klein and S. Feldman Email (x2) to M. Klein re: same (.2) same (.2)		, , ,	
Associate	L. Katherine Good	0.60 hrs.	340.00	\$204.00
10/03/11 Director	Meet with K. Good re: claim issues Paul N. Heath	0.10 hrs.	550.00	\$55.00
10/04/11 Associate	Review claim binders Amanda R. Steele	0.20 hrs.	245.00	\$49.00
10/04/11	Email (x2) with K. Good re: claims (.2); Circulate same to A. Steele for		rs (.1); Review same	
Paralegal	Jamie E. Schairer	0.40 hrs.	200.00	\$80.00
10/04/11 Associate	Review email from K. Good re: cor Julie A. Finocchiaro	ntinuing omnibus 0.10 hrs.	for Chartis 255.00	\$25.50

November 17, 2011 Invoice 392863

Page 16

Client # 734996

10/04/11	Call with A. Fish re: Chartis claims and to A. Fish re: same (.1); Email to J. Sch omnibus re: Chartis claims (.1); Email to (.1); Email to J. Schairer re: same (.1); Email to A. Muller re: 5-7-9 & Beyond	airer re: contino K. Skomoru Email (x2) to claims (.1)	nued hearing on 4th ucha re: claims binders A. Steele re: same (.1);	
Associate	L. Katherine Good 0.	70 hrs.	340.00	\$238.00
10/05/11	Finalize notices of submission of proofs Good for review (.1); Efile notice of sub omnibus claims objection (.1); Efile not re: 3rd omnibus claims objection (.1); Efile not of claim re: 5th omnibus claims objection proofs of claim re: 6th omnibus claims objection (.1); Update binder re: proofs of claims re: 2: Court (.1); Update binder re: proofs of objection for Court (.1); Update binder claims objection for Court (.1); Update omnibus claims objection for Court (.1) binders to Chambers (.1); Update binde omnibus claims objection for counsel (. claims re: 3rd omnibus claims objection proofs of claims re: 5th omnibus claims binder re: proofs of claims re: 6th omnibus claims	omission of price of submission of price of submission of price of con (.1); Efile resolution (.1); and omnibus occasions re: 3rd re: proofs of condinate of re: proofs of 1); Update bin of for counsel (stobjection for cou	sion of proofs of claim submission of proofs of claim submission of proofs notice of submission of serve all notices (.1); laims objection for omnibus claims re: 5th omnibus ofs of claims re: 6th delivery of all 4 f claims re: 2nd oder re: proofs of (.1); Update binder re: counsel (.1); Update	
Paralegal		70 hrs.	200.00	\$340.00
10/05/11	Review and sign four notices of submis documents re: CIT factoring agreements		s binders (.1); Review	
Associate	L. Katherine Good 0.	30 hrs.	340.00	\$102.00
10/05/11	Meet with K. Good re: claim issue (.2); claim issue (.1)	Review of en	nail from J. Schairer re:	
Director		30 hrs.	550.00	\$165.00
10/06/11	Draft and prepare certifications of no ob- omnibus objections to claims (.3); Final objection regarding fifth and sixth omni	lize and efile	certifications of no	
Paralegal	Janel Gates 0.	60 hrs.	200.00	\$120.00

November 17, 2011 Invoice 392863

Page 17

Client # 734996

10/06/11	Email to S. Feldman re: 5th and 6 with J. Gates re: preparation of C (.1)			2
Associate	L. Katherine Good	0.30 hrs.	340.00	\$102.00
10/07/11	Coordinate delivery to chambers same, 6th omnibus claims object with K. Jackson re: classification	ion and CNO re:	-	
Paralegal	Jamie E. Schairer	0.60 hrs.	200.00	\$120.00
10/10/11	Call to J. Raviola re: claim issue			
Director	Paul N. Heath	0.10 hrs.	550.00	\$55.00
10/11/11	Call from J. Finocchiaro re: abili	ty to object to var	rious claims	
Associate	Christopher M. Samis	0.20 hrs.	340.00	\$68.00
10/11/11	Retrieve order re: 5th omnibus of 6th omnibus objection to claims	v	* **	
Paralegal	Jamie E. Schairer	0.30 hrs.	200.00	\$60.00
10/11/11	Call with J. Seabury re: questions Omnibus Objection (.2); Emails Lennox proof of claims (.1); Ema regarding unliquidated status of I allowed claim status (.1); Follow regarding unliquidated status (.1) regarding voting question (.1)	with K. Good re: ail with V. Bakhs Lennox claim (.1) -up call with J. S	same (.1); Research hian re: question o; Call with C. Samis re: eabury re: question	
Associate	Julie A. Finocchiaro	0.80 hrs.	255.00	\$204.00
10/11/11 Associate	Email (x3) to J. Finocchiaro re: I L. Katherine Good	ennox claims 0.20 hrs.	340.00	\$68.00
10/12/11	Call with G. Lazarus re: Ultimate re: J. Craig claims (.1)	e Financial claims	s (.2); Email to M. Kleii	n
Associate	L. Katherine Good	0.30 hrs.	340.00	\$102.00
10/12/11 Director	Review of email from K. Good r Paul N. Heath	e: claim issue 0.20 hrs.	550.00	\$110.00

November 17, 2011 Invoice 392863

Page 18

Client # 734996

10/15/11	Email (x2) to J. Raviele re: Weinga	arten objection to	confirmation	
Associate	L. Katherine Good	0.20 hrs.	340.00	\$68.00
10/17/11	Call with K. Skomorucha re: J. Cra objections (.1); Email (x2) to K. Sk orders re: same (.2)			
Associate	L. Katherine Good	0.40 hrs.	340.00	\$136.00
10/18/11	Email BMC re: claims included on Prepare index for 4th omnibus clair omnibus claims objection binder (1	ms objection bin		
Paralegal	Jamie E. Schairer	2.90 hrs.	200.00	\$580.00
10/18/11	Review email from J. Seabury re: I with K. Good re: same (.1); Draft re of claim (.1); Email with V. Bakshi	esponse to J. Sea	abury confirming status	
Associate	Julie A. Finocchiaro	0.40 hrs.	255.00	\$102.00
10/18/11	Review and revise orders for 2nd at J. Schairer re: preparation of same resolution of J. Craig claim (.1); Er National account claims (.1); Email objections (.1)	for hearing (.1); nail to J. Finoce	Call with S. Feldman re: hiaro re: Lennnox	
Associate	L. Katherine Good	0.50 hrs.	340.00	\$170.00
10/19/11 Associate	Draft COC, order and stipulation re Amanda R. Steele	esolving WRI an 1.00 hrs.	nd Weingarten claims 245.00	\$245.00
10/19/11	Retrieve order granting second ome order granting third omnibus claim fourth omnibus claims objection ( all three orders to S. Feldman (.1)	s objection (.1);	Retrieve order granting	
Paralegal	Jamie E. Schairer	0.50 hrs.	200.00	\$100.00

November 17, 2011 Invoice 392863

Page 19

Client # 734996

	objection (.1); Email (x2) to A. (.1); Conference with A. Steele		AND THE RESIDENCE OF THE PARTY	
	Martin re: claim transfers and J	. Craig claims (.1)		
Associate	L. Katherine Good	0.40 hrs.	340.00	\$136.00
10/20/11	Revise COC, stipulation and or	rder for Weingarten	/WRI claim	
Associate	Amanda R. Steele	0.20 hrs.	245.00	\$49.00
10/20/11	Email to A. Fish re: Chartis cla	iims and 4th omnibu	us objection	
Associate	L. Katherine Good	0.10 hrs.	340.00	\$34.00
10/25/11	Call with M. Klein re: CIT agree Weingarten claims stipulation		ence with P. Heath re:	
Associate	L. Katherine Good	0.20 hrs.	340.00	\$68.00
10/26/11	Call with M. Klein re: J. Salmo (.1); Email to S. Feldman re: or and revise Weingarten claim st (.1)	mnibus claim object	tion orders (.1); Review	
Associate	L. Katherine Good	0.40 hrs.	340.00	\$136.00
10/27/11	Circulate correspondence receire: distribution of payments re:			
Paralegal	Jamie E. Schairer	0.20 hrs.	200.00	\$40.00
92 <del>7</del> 2				
10/27/11	Review of correspondence from	n State of PA re: cla	aim payments	
	Review of correspondence from Paul N. Heath	m State of PA re: cla 0.10 hrs.	aim payments 550.00	\$55.00
10/27/11 Director	Paul N. Heath	0.10 hrs.	550.00	
	Paul N. Heath		550.00	\$55.00 \$4,334.00
Director	Paul N. Heath	0.10 hrs. otal Fees for Profes	550.00	\$4,334.00
Director	Paul N. Heath	0.10 hrs. otal Fees for Profes	550.00	

November 17, 2011 Invoice 392863

Page 20

Client # 734996

Matter # 170666

For services through October 31, 2011 relating to Court Hearings

10/03/11	Update motion chart (.2); Update 10 10/19/11 hearing binder (.2)	)/19/11 hearing a	agenda (.1); Update	
Paralegal	Jamie E. Schairer	0.50 hrs.	200.00	\$100.00
10/04/11	Email from K. Good re: objection dechart (.1); Update 10/19/11 hearing additional omnibus hearing dates (.2) Email (x2) with N. Hunt re: same (.1); Draft certification of counsel resame to K. Good for review (.1); Efficacionate delivery of same to characteristics.	agenda (.1); Ema 1); Meet with K. 2); Email (x2) w e: omnibus heari ile same (.2); Se	ail N. Hunt re: Good re: same (.1); ith K. Good re: same ng dates (.2); Circulate	
Paralegal	Jamie E. Schairer	1.50 hrs.	200.00	\$300.00
10/04/11	Email (x3) to J. Schairer re: omnibu Schairer re: same (.1); Review and		5. (5.0)	
Associate	L. Katherine Good	0.40 hrs.	340.00	\$136.00
10/06/11	Retrieve and coordinate service of o	order scheduling	omnibus hearing dates	
Paralegal	Janel Gates	0.10 hrs.	200.00	\$20.00
10/07/11	Update motion chart (.3); Update 10 call with J. Kissinger re: 4th interim		agenda (.4); Telephone	
Paralegal	Jamie E. Schairer	0.80 hrs.	200.00	\$160.00
10/10/11	Meet with K. Good re: confirmation	n hearing		
Director	Paul N. Heath	0.20 hrs.	550.00	\$110.00
10/11/11	Update 10/19/11 hearing agenda (.3 binder (.5)	); Review and up	pdate 10/19/11 hearing	
Paralegal	Jamie E. Schairer	0.80 hrs.	200.00	\$160.00
10/11/11	Meet with K. Good re: confirmation	n hearing		
Director	Paul N. Heath	0.30 hrs.	550.00	\$165.00

November 17, 2011 Invoice 392863

Page 21

Client # 734996

10/12/11	Update 10/19/11 hearing agenda (.1) Review 10/19/11 hearing agenda (.4) Finocchiaro for review (.1); Continu (.2); Continue updating 10/19/11 hearing agend (.5); Update 10/19/11 hearing binder	); Circulate same the updating 10/19 aring binder (.3) da (.2); Update 1	e to K. Good and J. 9/11 hearing agenda ; Meet with K. Good re:	
Paralegal	Jamie E. Schairer	2.30 hrs.	200.00	\$460.00
10/14/11	Email with K. Good re: hearing (.1); hearing (.1)	; Email with K. (	Good and K. Martin re:	
Director	Paul N. Heath	0.20 hrs.	550.00	\$110.00
10/17/11	Meet with K. Good re: 10/19/11 hea Efile same (.1); Serve same (.1); Up Coordinate delivery of same to chan amended agenda (.1); Email K. Goo hearing binder for counsel (.3); Sche Martin (.1); Circulate confirmation of	date 10/19/11 henbers (.1); Email d re: same (.1); ledule telephonic	earing binder (.3); N. Hunt (x2) re: filing Update 10/19/11 appearance for K.	
Paralegal	Jamie E. Schairer	1.80 hrs.	200.00	\$360.00
10/17/11	Review and revise agenda (.3); Ema N. Hunt re: permission to extend ob (.1)			
Associate	L. Katherine Good	0.50 hrs.	340.00	\$170.00
10/17/11	Meet with K. Good re: hearing (.3); agenda for filing (.1); Email with K. Email with S. Feldman re: hearing (	Good and J. Ho		
Director	Paul N. Heath	2.10 hrs.	550.00	\$1,155.00
10/18/11	Finalize and efile amended 10/19/11 same (.1); Coordinate submission of supplemental documents to chamber	famended 10/19		
Paralegal	Ann Jerominski	0.40 hrs.	200.00	\$80.00

November 17, 2011 Invoice 392863

Page 22

Client # 734996

10/18/11	Update motion chart (.3); Draft ame Prepare 10/19/11 hearing binder for hearing agenda (.3); Prepare for 10/	counsel (.7); Up	odate amended 10/19/11	
Paralegal	Jamie E. Schairer	2.50 hrs.	200.00	\$500.00
10/18/11	Review and revise 10/19/11 amende			
Associate	L. Katherine Good	0.20 hrs.	340.00	\$68.00
10/18/11	Meet with K. Good re: hearing (.2);		O ( )	
Director	Paul N. Heath	2.70 hrs.	550.00	\$1,485.00
10/19/11	Email from N. Hunt re: status of 10, Good re: same (.1); Email to N. Hun hearing, including preparation of or transcript (.2); Update motion chart	nt re: same (.1); ders (3.0); Reque	Prepare for 10/19/11	
Paralegal	Jamie E. Schairer	3.80 hrs.	200.00	\$760.00
10/19/11	Email to J. Schairer re: status of 10/ attend hearing, including preparatio objections and preparation for prese Feldman and P. Heath re: hearing (4	n of orders and entation of same,	exhibits, review of claim	
Associate	L. Katherine Good	4.90 hrs.	340.00	\$1,666.00
10/19/11	Meetings with K. Good re: confirma	ation hearing		
Director	Mark D. Collins	0.20 hrs.	725.00	\$145.00
10/19/11	Prepare for hearing (3.0); Attend he hearing (.3); Meet with S. Feldman		with K. Good re:	
Director	Paul N. Heath	4.10 hrs.	550.00	\$2,255.00
10/20/11	Organize 8 volumes of binders and counsel at 10/19/11 hearing (1.5); Einterim fee hearing (.1)		-	
Paralegal	Jamie E. Schairer	1.60 hrs.	200.00	\$320.00
10/20/11	Review emails from J. Schairer and	K. Good re: 4th	Interim Fee Hearing	
Associate	Julie A. Finocchiaro	0.10 hrs.	255.00	\$25.50

November 17, 2011 Invoice 392863

Page 23

Client # 734996

TO	OTAL DUE FOR THIS MA	TTER		\$18,096.50
				\$6,852.00
TC	OTAL DUE FOR THIS INVO	DICE		\$11,244.50
		Total Fees for Profess	sional Services	\$11,244.50
Paralegal	Jamie E. Schairer	1.70 hrs.	200.00	\$340.00
10/26/11	Organize 1 binder utilized Prepare 12/6/11 hearing a	•	<del>-</del> , , , .	
Paralegal	Jamie E. Schairer	0.80 hrs.	200.00	\$160.00
10/21/11	Organize 7 volumes of bir hearing (.7); Circulate 10/	•		
Associate	L. Katherine Good	0.10 hrs.	340.00	\$34.00
10/20/11	Email to D. Grottini re: 10	0/19/11 hearing		